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Note : L) Atl questions are comPulsory'
2) AU questions are of 1O Marks each'

Attempt anY two of the following.
Define Renaissance. state the causes of Renaissance.
Explain the effects of Geographical discoveries'
Describe the role of Martin Luther in the Reformation

Attempt anY two of the following'
Examiie the results and significance of the American Revolution'

How did the political and social cond.ition in France cause the French

A4L7OH,2L9 Maximum Marks : 1OO

****'d'****:k***

10
10
IO

Revolution^
Cl) Discr-iss the effects of the Industrial Revolution

Attempt anY two of the following'
Explarn the various caLlses responsible for the formation of nation states in

Europe.
Discr-rss the process of Italian Uni{ication under the leadership of Cavour'

trxplain the various forms of Colonial expa:rsion in Asia'

Attempt anY two of the following'
Explarn the results of World War - I'
Wliat u,ere the causes of the Revolutio. in itussia?
Discuss the establishment of the League of Nations. What r'vere its main

organs?

Attempt anY two of the following'
Resr-rlts of Reformation
Results of Indr-rstrial Revolution
Unification of GermanY
Describe the development of art during the Renaissance period'
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